7 g EQOOG_: L
= = 0 = L
o A 0 L
= X g I
o = -
= v -10 u>)1500_
N L
x 3 [
S ) L
v 20 210001
5 [
-30 A r
x
© 500
v L
-40 r
g 9 _J.En 9 L.UU_
e T g [
o 24 [vd r
I
0.95 H I HER ...:2 : H 0.o5 L AL TTE VIR EIVEEERIVIETIETRIE ":2 M 0.950ii i HAREHRHR : :.....2
Sum1 %f track p_ (GeV) 1 10Sum of tracjkopT (GeV) 1 Sunl1oof track p_ (Ge\})O
—=— DQM_mkFit_baseline_lowPT
—— DQM_mkFit_baseline6iter_lowPT
5 ; E aof C:
s 5 N -
= N > L.
E e 3
= : v L
N KR -
> : F
e} : —
\% : N
= : g _
T : I s
o 24 r
0.95 H I HER ::::2 : H CALCEEEEIITITEFCVIIEIGICEE ¢ 5 ¢ 0.9501 i HEREHRHR : il
Sum1 %f track p_ (GeV) Sunlﬁoof track p, (Ge\})O
E 500: a gOOO_:
. b =2 = 3
2 T 0 3
= 400 § g gool-
IS C o g L
3 L = i
= 300F i v ¢ I
N o 3 600
o 9 i
v 200----- s i
E L
5 400
A L
N L
© 200p
v L
ok
o o twof
T Il X
[hd 24 r
Ly
0.95 s R H R H R A H R : H LLEETRVERRERTT BT ¢ ¢ 0,950l i HEREHRHR : dEE::

2
10Sum of trac]kop (GeV)
T

2 2
Sum1 %f track p_ (GeV) Sunl100f track p_ (Ge\;‘)O



	Contents
	Page 1


